Roman Pfeifer

WHEN YOU HAVE

45 SECONDS
REVERBERATION
COMING BACK AT YOU

tiir Tuba mit Delay
(2014)

Dauer: 12 min



It's a very challenging space to create music in, when you
have forty-five seconds reverberation coming back at you.
The sound is so well mirrored, so to speak, that it's
hard to tell direct sound from the reflective sound.
It puts you in the deep listening space.
You're hearing the past, of sound that you made; you're con-
tinuing it, possibly, so you're right in the present, and you'e

anticipating the future, which is coming at you from the past.

(Pauline Oliveros)



AUFBAU

fiir das Stiick wird ein Delay benétigt. Die Delayzeit ist 7.5 Sekunden (entspricht 10 Viertel bei BPM=80). Das Feedback wird so eingse-
tellt das 4-5 Wiederholungen entstehen. Die erste Wiederholung aus den Lautsprechern soll genauso laut wie die Live-Tuba sein.

ZEICHEN

Slap

Auf Mundstiick schlagen

i I

Luft tonlos (durch Laute H, F, S, Sh gefarbt)

Spielen und Singen (Raute)
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> Zwerchfellstofl (langsam)

<<

durch Instrument einatmen
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Tonlos Artikulieren
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TK

Doppelzunge (Tonlos)
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Digeridoo - Technik

[6 ---> u] Vokal - Firbungen

Luftstrom mit Rachen R modulieren

Gerauschhafter Tonansatz
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